

			Vendor	Ranking		Page 1 of 1	
Letting:	01200116	January 16, 2020 11:00 am	Call Order	: 006	Contract:	E1T35-R0	
	District 1 365 AVAILABLE DAYS Side Drain Desilting-Highlands		Counties: DIST/ST-WIDE, HIGHLANDS			Fed Aid No: N/A Project(s): 43272617248 (*)	

Rar	nk Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	DRAINAGE PARTNERS LLC	Responsive	Winning bid	\$84,600.00	100.00%
2	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$119,750.00	141.55%
3	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$137,550.00	162.59%
4	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$138,200.00	163.36%
5	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Non-Winning Bid	\$139,050.00	164.36%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



01/30/2020

Tabulation of Bids

Page 1 of 3

Letting:	01200116	January 16, 2020	Call Order:	006	Contract:	E1T35-R0
District:	District 1		Counties:	DIST/ST-WIDE,	Fed Aid No	: N/A
Contract Time:	365 AVAILAB	LE DAYS		HIGHLANDS	Project(s):	43272617248 (*)

Contract Descr: Side Drain Desilting-Highlands

The work under this contract consists of Side Drain Desilting.

Line No / Item ID Alternate Item Description	Quantity Units	(1) DRAINAGE P	ARTNERS LLC	(2) ENVIRONM DEVELO			OAH GENERAL CTION, LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	CLEAN DRAIN	AGE STRUCTURE	ES (LF)				
0005 0430 94 1 DESILTING PIPE, 0 - 24"	35,000.000 LF	1.50000	52,500.00	2.25000	78,750.00	2.40000	84,000.00
0010 0430 94 2 DESILTING PIPE, 25 - 36"	15,000.000 LF	2.00000	30,000.00	2.50000	37,500.00	3.25000	48,750.00
0015 0430 94 3 DESILTING PIPE, 37 - 48"	100.000 LF	6.00000	600.00	8.00000	800.00	8.00000	800.00
0020 0430 94 4 DESILTING PIPE, 49 - 60"	100.000 LF	7.00000	700.00	12.00000	1,200.00	15.00000	1,500.00
0025 0430 94 5 DESILTING PIPE, 61" OR GREATER	100.000 LF	8.00000	800.00	15.00000	1,500.00	25.00000	2,500.00
0001 CLEAN DRAINAGE Se STRUCTURES (LF)	ection Totals:		\$84,600.00		\$119,750.00		\$137,550.00

Contract Grand Totals:	\$84,600.00	\$119,750.00	137,550.00
------------------------	-------------	--------------	------------



Tabulation of Bids

Page 2 of 3

Letting:	01200116	January 16, 202	20 Ca l	I Order: 006		Contract:	E1T35-R0	
Line No / Ite Item Descrij		e Quantity Units	(4) FLO ENVIRONME		(5) ENVIROWAS GROUF			
() indicates ite	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	CLEAN DRAIN	AGE STRUCTURE	S (LF)				
0005 0430 9 DESILTING PIP		35,000.000 LF	2.60000	91,000.00	2.40000	84,000.00		
0010 0430 9 DESILTING PIP		15,000.000 LF	2.90000	43,500.00	3.45000	51,750.00		
0015 0430 9 DESILTING PIP	-	100.000 LF	10.00000	1,000.00	10.00000	1,000.00		
0020 0430 9 DESILTING PIP		100.000 LF	13.00000	1,300.00	11.00000	1,100.00		
0025 0430 9 DESILTING PIP	4 5 E, 61" OR GREATER	100.000 R LF	14.00000	1,400.00	12.00000	1,200.00		
	LEAN DRAINAGE S TRUCTURES (LF)	ection Totals:		\$138,200.00		\$139,050.00		

Contract Grand Totals:

\$138,200.00

\$139,050.00



Page 3 of 3

Letting:	01200116	January 16, 2020	Call Order: 006	Contract:	E1T35-R0
		120.57(3), Florida	le a protest within the time prescribed in s Statutes, or failure to post the bond or oth hin the time allowed for filing a bond shall	er security	

a waiver of proceedings under chapter 120, Florida Statutes.